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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’,

"FVIEC

ir—o', "ECl:g—0o']]

2800

2600

2400 -

2200 -

2000 -

1800 ~

Warning: col |[['ECC’, 'FVIEC'] is missing

—e— ECI

10

20

30

40

50

60




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15

RriE) | EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS AR
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08:30 294 150.0 2.888 R5| TiHAe08:30 KHEIEF (RAEEHS)
09:20 294 150.0 2. 888 Be| THH@09:20 REFEF (KFAEZREE)
10:15 294 150.0 2. 888 RS FhHAe10:15 KEIEF (CKAFEER)
11:00 294 150.0 2. 888 RS FhHA@11:00 KENFEF (CRAfEEEE)
11:45 294 150.0 2.888 RS FrHRe11:45 REBF (REAERSE)
12:30 294 150. 0 2.888 R5| FiHAe12:30 FHEFEF (REAEESR)
13:15 294 150.0 2. 888 R5| TiHAe13:15 KRHERF (RAEHS)
14:00 294 150.0 2.888 A FHAe14:00 KEEF (KBAHERKS)
14:45 294 150.0 2. 888 RS ThHAe14:45 KEIEF CGRAFERE)
15:35 294 150.0 2. 888 RS| FiHfe15:35 REIEF (REERR)
16:40 294 150.0 2.888 B FHA@16:40 KREEF (KAHERKS)
29t 3822.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6
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P3-15
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P3-15

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE
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13:00 288 150.0 2. 888 FE| 1BRi%@13:00 B3 (kAERSE)
14:25 288 150.0 2.888 FA| {Ri&e14:25 Bzl CGRAEREE)
16:05 288 150.0 2.888 FH| 1Ri%@16:05 B3h (KAERSE)
24t 1728.0 (6%) 900. 0 3ESHKEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

[E;KEC 6290.0 K5, i FHAKECAE & hikER
HEEIHECE (2007.0 vs 6290.0) 5

144.0), FlEEHT—R % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

25.0 4

22.5

20.0

17.5 4

15.0

P3-15_0, Day=62 (2025-06-01)

150 A

100 A

50

1100

750 72002

00 00

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-15

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

06:30 283 150.0 2.888 FE| 1BRi%@06:30 B (kAERSE)
07:30 283 150.0 2.888 FH| 1Bi&@07:30 Bah (KRAMEREE)
08:30 283 150.0 2.888 FA| 1Ri&@08:30 Bz (KAL)
09:30 283 150.0 2. 888 FA| {RRi&@09:30 Bz (RA{EEE)
10:30 283 150.0 2.888 FB| {Ri&@10:30 B3 (FAFERSE)
11:35 283 150.0 2.888 FA| {Ri&e11:35 Bzl CGRAEEE)
13:30 283 150.0 2.888 | KM| {Ri%e13:30 Bz (KREAEZHE)
29t]1981.0 (70%) 1050. 0 3ZHKEC: 2080.0, PH: 5.5

TERRHLER 2 STEEART (187.0 :

ZRIAKFREBRE153. 0 ml.
large discrepency for begining water status (305:27.0), set to 305 ml.

Ei&PH (7.17) /&

[E&EC 6737.0 K&, EINFAIKECAE&idEE R
7 [ERECE (2087.0 vs 6737.0) 145

153.0), AlEEHT—@ L XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=61 (2025-05-31)
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80 Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.5

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-15

BfiE) | EBIAT (FD) | ERE (EA/4R) | BEREE(B/R) | XS ERE

06:25 283 150.0 2. 888 ] B21%@06:25 Bzh (FRARESE)
07:15 283 150.0 2.888 3] BRi&e07:15 Bzl (kPHEEE)
08:05 283 150.0 2.888 ] B218@08:05 Bzh (FRFAEEE)
09:15 283 150.0 2. 888 ] B218@09:15 Bzh (RAREE)
10:25 283 150.0 2.888 A BRi&@10:25 Bzl (RPEREE)
11:20 283 150.0 2.888 A Bi%e11:20 Bzh (RAEESE)
12:05 283 150.0 2.888 ] Bi8@12:05 Bzh (RAKRESE)
12:50 283 150.0 2.888 1] Ri%e12:50 Bz (REAERR)
13:35 283 150.0 2.888 A BRi&e13:35 Bzl (RPFEEE)
14:40 283 150.0 2.888 A Ri%@14:40 Bz (REERSE)
15:55 283 150.0 2.888 FA| #F#nfTe15:55 Bzl (GRPEREEE)
17:25 283 150.0 2. 888 ] Bi%e17:25 Bzh (RAEESE)
23t 3396.0 (12%) 1800. 0 3EFHKEC: 2080.0, PH: 5.5

TERRHLER 2 STEEARTF (184.0 :

BRIASSRRIZERE150. 0 ml.
EBi&PH (7.17) RS

[E&EC 6813.0 K5, #iYF{KECAE&HikER

P [ERECE (2220. 0 vs

6813.0) id 5

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=60 (2025-05-30)
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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